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SECTION -1
wug -1
CHILD DEVELOPMENT AND PEDAGOGY
aTe-farera wa et fafuat
There are 30 questions in all in this section.
All questions are compulsory.
79 @ o T 30 WA & |
Tt e Hfad €1

1:  "Human development goes on for a lifetime, although two people are not cqual,
but the order of development remains same in normal children.” Which principle

of development does this statement point to ?

(A) = Principle of continuous development

(B) Principle of interrelationship

(C) Principle of uniform pattern

(D)  Principle of general to specific responses

‘o T ST o T £, Tt @ st aueR e e €, feeg W JEe
e o e w1 U W e X1 78 S far & e fata @t S e
AT E ? | B | ;

(A wad faerw w fagid By WER ged & st

(©) T wfiey # fasid D) @ R fafere srfred w1 fasi

2. Which is the final stage of cognitive development according to Jean Piaget ?

| (A) Sensori motor stage (B) Formal operational stage
(C) Post-operational stage (D) Concrete operational stage

i e & AR W R i i s e
() Hafees TEig e (B) 3 WishaTces 3Tee

(C) IR WiwATHS e (D) nﬁmm

3. The Father of Genetics is
(A) Gregor Mendel
(C) James Watson
AR ¥ oTH €

4 TR A (B)' WA &< AT

(B) Thomas Hunt Morgan
(D) Charles Darwin

(© e Az _ (D) ey eifaA
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I-@ 4 - ST

4. Who propounded the Psychoanalytical theory of Personality ?
(A)  Abraham Maslow (B) Sigmund Freud
(C)  Carl Rogers : (D) Jean Piaget
A 1 Tfereeteomess fogin frad shofed fr & 2
(A)  STHIRH AR - @ famue W
(C) T Terd D) ¥ framt
S. A 10 year old child has mental age of 12, then what would be his 1.Q. ?
(A) 100 (B) 90
(C) 120 (D) 110 .
T 10 A erh Ht A g 12 % @ 36 - n
(A). 100 (B) 90
@ 120 (D) 110

6. The theory of learning proposed by Albert Bandura is
(A)  Classical conditioning theory
(B) Cognitive theory
(C) Insight learning
(D)  Social learnmg theory

HeAae TG R WAt A & fogr &

(A)  WEE I fag (B) TWFCTH fag

(C) eimgiee 3ty ) gt sty fagrg
7. How many personality factors are proposed by Raymond Cattell ?

(A) 05 (B) 14

(C) 16 (D) 08

W e g1 fa =fee #Re wefaa ¥ )

A) 05 B) 14

€l 16 (D) 08

94639 |1 NIHIEL @ 444
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g.  Which of the following is not included in Maslow's hierarchy of needs ?
(A) Physiological nceds
(B) Individualism and collectivism ‘
(C) Love and belonging
(D) Self actualization
ﬁﬂﬁ@aﬁq-ﬁrq@ftaﬁmﬁmﬁ%wﬂﬁuﬁﬂﬁﬁﬂﬂ% ?
A) e smEvEsan @) e TEH WA
(€) TE T grEgd D) ST
9. - Two opposing desires present in an individual at the same time is called
(A) Conflict (B). Frustration
(C) Anxiety (D) Pressure
@wﬁﬁﬁwwwﬁﬁmﬁawaﬁwﬁmaﬁm%
() TE B) F
) fa=n (D) S
10. Which of the following researches is associated with Stephen Corey ?
(A)- Basic research (B) Behavioural research
(C) Scientific research (D) Action research ’
Frtfrfiaa & @ F-80 a@m@ﬁﬁﬁi.ﬁwﬁm% ?
(A) SR 3TTHuH (B) THATRIHS U
() dasiieE FTHEH (B) FoRATHe STTHYM
11. Which of the following is not a biological factor determining individual

differences ?
(A) Heritability
(C) Parent-child relationship '{D] Physical health

e foen ) Freifa w0 i Fr 3 A - s w2
(A) 3T (B) S @

() sfuumEs-acH = (D) © VRN @A

(B) Innate temperément

9a630 | [N IIIEN - [444 1-@
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12.  The cause of Down's syndrome is

(A)  Trisomy-20 (B) Trisomy-21
(C)  XXY chromosome (D)  Trisomy-22
ST HEART & HRT &
(&) FErEEE-20 (B) EeT-21
@] XXY TR oy FEergET-22
13.  The concept of reliability refers to
(A)  Objectivity of instructions (B)  Purpose of measurement
(C) Consistency of scores (D)  Uniformity of scoring
faag=raar #t sreuron @ smw ¥ |
(a) fe =t s , (B) U T WA
(C) WTAehl ! SR @) O & FHETA
14.  Which of the following is not an example of projective test ?
(A) TAT ‘ (B) SCT
(C) Draw.a Man (D) MMPI
Frafefaa & & SH-81 TEdE wieor 1 3507 79 & 2
A Awd B wWH®A
© FTE . (D) T TH @ a7
15. Who propounded the theory of multiple intelligence ?
(A) Howard Gardner (B)  Jean Piaget
(C) David Weschler (D)  Erik Erikson
ag-giq & faar fmas wiona fear 2
(] TEE MET B) i fras
) Efag AR (D) e wwwe

94639 [[IINIHIIN [444]
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16. Remedial teaching is used for which kind of children ?

(A)  Fastlearners = - (B)  Slow learners

(C)  Gifted children (D)  Creative learners
STARTeT Rt v sy & aert & ford g g & 2

(A) s ¥ dhE L) M e e

(C) SiAWRTER Ao (D) T | dE ae

17. Playway method of teaching is based on
(A) Theories of methods of teaching
(B)  Principle of growth and development
(C) Sociological principle of teaching
(D)  Physical education programme

Feeron =t W fufn forer ferr e s 2 2
(A) ﬁwﬁﬁﬁ@%f‘aam

B) Ffg R fawma &1 fagr

) femeror a1 ST ferT

() WRIE ferem sdwn

18. Who was the Chairman of National Steering Committee on NCF, 2005 ?

(A) Prof. Kothari ' (B) Prof. Mehrotra
(C) Prof. Yashpal \ (D)  Prof. Ram Murti
T W, TF., 2005 H T gt wfifa & enaw w9 4 2
(A) Wl FRBRT B) . HE
) WLEmEE (D) W I gfa
19, RTE Act, 2009 is for the children of which age group ?
(A) 5-12 (B) 12-18
(C) 7-15 (D) 6-14
AR A3, wAfufray, 2009 fFF 3 9 F Tl & ol € 2
(A)  5-12 (B) 12-18
(C) 7-15 (D) 6-14

sasao | [IINILIAL 444 P.T.0.
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20. Which of the following is not a physiological motive ?
(A)  Achievement (8) Hunger
- (C)  Thirst (D)  Sleep
Frferfan & / wiw-m e st @ € 2
4K IueIfey - (B) Y@
(€ = - D) R

21. According to NCF 2005, thé main goal of Mathematics educauon is
(A)  Training of teachers
(B) Classroom learning
(C)  Mathematisation of Child's thinking
(D)  Course content of Mathematics

..U, 2005 & AR, e o &7 5@ 39T &
(A)  Tereqent =t wfyreror

(B) et sy
(€ =T & fa=r & nfrdieRor

(D) nﬁmﬁﬁmﬂmﬁ

22. Learning through reward and punishment is related to which theory of

learning ?
(A) Social learning ! (B) Operant conditioning
(C) Classical conditioning (D) Cognitive theory
QIS mm%mﬁxﬂmaﬂfuw%mﬁmﬁrwﬁm%g
(a) W ® B s
(C) VI e (D) T T

23. Which of the following is not a process related to learning during childhood ?
(A) Past experience (B)  Reflection
(C) Imagination (D) Argument
hﬁmﬁﬂmﬁmm%ﬂmﬁ@ﬁﬁmﬁmaﬁ% ?
Ay T FIE B)  widfEm
(C) el (D) R

oa63o |l 444
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24. Which tests are designed to measure the effects of a specific programme or
training ? :
(A)  Personality (B) Intelligence
(C) Achievement (D)  Creativity
wmmmm%mmwwﬁwmm#ﬁwﬁ
TRefead AT s & 9 |
W A B) %
(©) 39 (D)  TEATCHR!

25. At which stage of development an individual faces the problem of vqcational
adjustment ?

(A) Old age (B)  Adolescence |

(C) Childhood (D) Infancy |

FT 3 e sTaen § uF =e AEEeE GHEeE S GHET H A A E 2
(A)  TETET B) feviEmn

() ETcHr=reT (D) ey e

26. The psychological basis of teaching-learning depends on

(A) Teaching style ~ (B) Course content
(C) Language (D) Sacio—cc.onomic status
FoTaoT- 3R T HATAE R fRw o FeR R € 2
& arera e (B fawa-ae
(C) W ' (D)  me-3nfaes W
27. According to RTE Act, 2009, the Pupil-Teacher ratio for primary schools
should be .
(A) 25:1 (B) 35:1
€ 40:1 (D) 30:1

94639 |[INMLITIN 444 P.T.0.
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FREL. sufram, 2009 % srpan i femerd & frd e snam e
BT el
'.‘i {‘A) 25: 1 (B) 35:1
ﬁ] @r " 40:1 . (D) 30:1
28. 'Midterm Exam' is an example of

| (A)  Creative Assessment
(B) Norm-referenced Assessment
(C) Summative Assessment

| (D) Diagnostic Assessment
(A)  TEHATHS TeAiET F (B) m—ﬁ?{ﬁm e &l
(C) FNTH Tedisd &1 4B) &I g @
29. | Which disease is hereditary ? | |

(A) ADHD (B)  Phenylkitonuria
(C) Parkinson's - (D) HIV-AIDS

HIF-F1 W7 I € 2

@ wImEd (B) TSR
(C) URIF4H (D) T3S A Tz

30. Which of the following is a performance test of intelligence ?

R m——

(A) Bhatia Battery . (B)  Rorschach test
(C) WAIS (D)  Raven's SPM
frfafaa 7 @ ®H-91 gfa &1 e oiew & 2

) e 2l (B T e
(C) T=]UIAEIE. (D) Y& &1 ww .o,

aasso (1IN
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31.
32.
33.

34.

g - II
vmET - I

fe=t
TW GUE 1§ Fel 30 WA € |
vt e rfErd €

freAieitEe Y & SR W owe W@ 31 W 34 TF & I AT :

framareh o %) wiwt w1 s e e | S Sl d we od o
w1 9 @A ¥, R ¥ | 3 ad o G TR F0 AR 3§ gEe & AU
T T W ¥ 1w, i el g B st & weel @ s fE €
AR T T, Rty e % g W # 0@ o o &, W IR A g
3l THR vt w1 wEE w0 & forr Sew wd & | fan el Stva % Wl R
W [ F T IR W arera ¥ | ferd g w6 faawgEe, e § 55
¥ TRV TR F AN T ¥ | TS w-qes H e e w1 Rea g F e
e | |

‘fagm’ =1 iferT & ; :

(A) e @  fogst

© (D), Feget
USaSA, SgI9T & WEl H ¥

() o - B T -

(©) @t - FifEr ) (D) WA - Afge

‘T’ ves o1 Wet oY ® .

(A)  HTH (B) - SHTHA

(er AR D) wReE o

'‘T3-g2 TEIHT Wed WMl @I VSN H WHNH FH b oY I@E @ ¢ a=E A
AR EAE ? ‘
(A) WETE Ydehrel (B) W wiasy Fet
(C) €A TAEH HIeA (Dy— EHRY SAEE el
frfafEa Taiwr & YR T ¥ GG 35 ¥ 39 0% & I fofEy

T, WEe SR IAH S S % g fRY TC smeRer SRy w1 A d v
¥ 1 2w wiet ST WIS gl @ gt W HER H AR fafawen ¥, staud -t
&1 Shaga H quidn @ R A e fofay bl & @ o s fafava feard
T & | ared @ @YE ¢ 6 9% 97 fgERi iR S & AR el Sl aur e [

%639 |[ENILHTIN [444] P.T.0.
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39.

40.

41.

42,

43.
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mwﬁwmw%mm%%mﬁwmaﬂtwﬁ:
TR TH A A wf R o qHeR g Ao § @t @ 39 S |
T for o wiv-sdwd A it qu W w1 ud & A w edee it fa,

AR 3R e & O ey ot 7 e Fm e
W V= T qEbEr |

(A) 9 (B) 3reEt
Q w&A ) TY
I W faeim

@ s - (B) o
€ 3= : " (D) I
‘o fed & o R e arin F PO TE TR
() WIIFER (B)

(©) @ . (D) ﬁ
oy’ o= o 3gwt & . :
(a) fa (B)
er fag ' D) &
‘T’ v WY = UK &

(B 3TN B e
()  =gsife (D) U™
TETeR & WA | a9 e & T ey g

(A) G I Al 3FFA WS |

(B) €% HHL H IWH TH For ol |

er 3H WE @d % @it & fou ae-diat et @ 9
(D) ®RI A UHS T W IUH! AH FH T |

f&=<t o 9 A &% A s e §
(A) 7 | (B) 4w
(C) =R 4P =

“gZ A AT @, SR A RS T e w5 we o i
(A) T | Tt =fe wm T wa

(B) AM WM & THUA FdMl

(C) 3™ FEl 3T Al HOR &l

(B~ & R I Welle oAl oliehd 3 SFaeR 1 7 oA
‘qigsr’ | fema wfy & wEm € 2

() e Hi B o iy

) v 4 (D) arafg wfy
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40, T8 PO & B 3 Tl oy 9 @ @ Prer) T o e 1 I A €
(A S A @) s =
€f ¥EaTE (D) R AT
45. :@;ﬁﬁﬁ?@_ﬁ'Hﬂﬂa%wwuﬁmmwﬂmﬁ?
(A)  faureTES (B) FOEET - '
(C) Fehards ' (D) SEETES
46. Tmﬁmw%ﬁﬁﬁ@&mﬁww@wm
A) T v | (B) &% @AW
() THURT §HE (D) wEgHiTe WA
47. ‘ﬁoﬁmwmaﬁuﬁreﬁ'wﬁi@iﬁmwﬁﬁm%
(A)  TRHETOTETES B) HAfbards
(C) Hehdard® | D) ToEEE
48. PrffEa I @ IRV & fo e T seren (98 €
A) : | "
) = : D) ! "N -
49.wﬁmﬁ'mwmﬁﬁmw."qﬁﬁw%m@mﬁ,aﬂt
FR U FEAAE I .
- T (B) e
(C) I : (o) Hewd
50. Wﬁmmﬁnﬁmﬁﬁﬁ'mm'ﬁﬁmm%
() e fdr 9 S S '
(B) m%wﬁu’lﬁmwﬁﬁmﬁm|
) %W@ﬁﬁmml
D) et & me @ e <
5| Fsfofad @ @ FE-A der B ATAE 2
@) 7@ A @
() W (B) SR
50. ifezit apfrm @Al €
) mmm (B) wmaﬁrmuwu’r
ef ger s aw D) O E
444 P.T.O.
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W, W TE A w6 e A R e @ w3t § 2

(A)  FIHTH Y (B)  YSEIEHF Y

€ T ¥y D)  TFETHE I

R ¥amg, ®id a1 wie W Rl A for 2 ¥ ik o # w5 Fa
H G I AN @ W R e = | gg e ¥

A) TR Rl (B)  argentur fafy

(€ wivew fafy @ & wefe fafu

;Ei::? T e, &qum qnaﬂmqaﬁmmﬁqﬁr%ammm
?

(A) T WRF @) e v

@ TS W - () TR

- ot # f woneh ® fr w9 g’ womelt ot Fw § 2
(&) T st : (B) * ATFH woTTe

€] TET-TE onet (D)" TR WUTer -

Tt ereor waferdt ‘it waf' 3 sy S RewE § o

+4) g AR Terifees =i B) Ve iR fraga #i

€ FTANECHTFRER S, (D) HORA TVET F
ﬁﬂaﬁaﬁwﬁsﬁwa&amﬂmmﬁqlmwaﬁaﬁq@ﬁm

mﬂaﬁ?ﬁmmﬁqlmmﬁaﬁﬁm B wR Y
% U # At #) ofd a7 a1 W it

3T FT W He H fw € 2

(A) EiEaT @ (B) IeieA &1

(C) &L | (D) SEt

UIed-qETd! & 3LV & Sl qreu-Yeah et a1 Aot & foro @

(A TATAATATEE | (@) s e o et & fe wna ¥

(C) #VATA e WA TE WA E | (D) WU FH A IE |
yar-forequr 7 I9ATT UeA-299 A §

(A) e By s

(C) vAMIE (D) R

aas3o |[NIIIIII
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SECTION - II
LANGUAGE - I
ENGLISH
There are 30 questions in all in this section,
All questions are compulsory.

pPassage ( For Q. Nos. 31-34 )2

We all use roads. We walk on them or drive our vehicles on them. We go ac
or walk on the pavements along them. In cities there are footpaths or pavements along
the roads. Those who walk on them are called pedestrians. It is safe to usc footpaths if

ross them

we are walking.
Roads in big cities are very busy. They are crowded with all kinds of vehicle

buses, trucks, cars, three wheelers, motor cycles, scooters, bicycles etc. Slow moving
can also be seen there. Walking and driving on

s like

bullock carts, horse carriages, etc.
such roads is always very risky. People in a hurry ignore the rules of the road and
cause accidents. A lot of people die or get injured in such accidents everyday. The best

way to avoid accidents is to obey the rules of the road.

31. The synonym of ‘pavement’ is

(A) Road (B) Traffic
(C) Footway (D) Walk
32. The antonym of ‘t-)usy’ is
(B) idle

(A) occupied

(C) tired
Find out the word from the passage that means,

(D) freedom

33. “The people who walk on a
pavement”.

(A) Bullock carts (B) Horse carriages

(C) Pedestrians (D) Vehicles

34. The verb form of the noun ‘driving’ is
(B) undrive

(A) drive
(C) driver
35 Which of the following words is correctly spelt ?
(B) Vaccuum

(D) none of these

(A) Vaccum

(C) Vaacum

sc30 [[INIILIII

(D) Vacuum
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Passage ( Q. Nos. 36-40 ) :

The folk dances of Rajasthan are inviting and engaging. They are bound to induce you
to tap a foot or two along with the dancers. Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and lively. They have their own significance and
style. They are attractive and skilful. They are enjoyed by every age group. The people
of Rajasthan love their folk dances.

36. The words ‘inviting’ and ‘engaging’ are

(A) Nouns (B) Adverbs
(C) Adjectives (D) Pronouns
37. The sentence, The people of Rajasthan love their folk dances” is in the
(A) Simple present tense - (B) Present perfect tense
(C) Simple past tense (D) Past perfect tense
38. The word ‘Rajasthan’is a/an
(A) Common noun (B) Proper.noun
(C) Collective noun (D) Abstract noun

39. Which one of the following sequences has the three degrees of the adjectives in
their correct form ?

(A) Lively, more lively, most liveliest -
(B) Lively, livelier, liveliest
(C) Lively, more livelier, most lively
(D) Lively, more lively, liveliestly
40. Which of the following phrases has a determiner in it ?

(A) Customs and traditions (B) Colourful and lively
(C) Attractive and skilful (D) The folk dances
41. The study of speech sounds is called
“(A) Morphology : (B) Etymology
(C) Phonology . (D) Chronology
42. The phonetic symbol for the underlined sound in the word ‘shy’ is
A) | (B) s
©) tJ (D) ds
43, Choose the correct phonetic transcription of the word ‘boy’ :
(A) /b3l/ (B) /bd1/
(C) /bal/ (D) /bol/

oaczo [N - 44
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44,

45.

46.

47.
48.

49.
50.

Sl

sszo (NI =

“The peon opened the gate.” The correct passive transformation of the sentence
will be

(A) The gate will be opened by the peon

(B) The gate was opened by the peon

(C) The gate is opened by the peon

(D) The gate has been opened by the peon
Which question form is correct in its structure ?
(A) Do you go to college yesterday ?

(B) Does you go to college yesterday ?

(C) Did you go to college yesterday ?

(D) Did you go yesterday college ?

Which of the following is not a principle of language teaching ?
(B) Practice and drill

(A) Principle of naturalness
(D) Copying and pasting

(C) Learning by doing
Multi-line approach consists of
(A) use of models

(B) reaching the same target from different directions and means
(C) selection and gradation

(D) all of these
Which of the following is true about the Grammar-cum-Translation method ?

(A) Mother tongue is used while teaching

(B) Form is more important than content

(C) Rote learning is encouraged

(D) All of these

Which method is also known as the natural method of teaching English as

second language ?

(A) Substitution method

(C) Grammar-Translation method
Which of the following English teaching approac
student-oriented ?

(A) Communicative approach

(B) Bilingual method
(D) Direct method
hes is student-centered and

(B) Situational approach

(C) Structural approach (D) All of these

The two kinds of reading skills are
(A) verbal and visual reading
(C) silent reading and reading aloud

(B) slow and fast reading
(D) all of these

P.T.O.
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Which of the following is a criterion for selection of a writing task to be given to
the students to develop their writing skills ?

(A) Interest of students _ (B) Level of the class

(C) Both (A) and (B) .[D) None of these
Multimedia resources do not include |

(A) Audio resources (B) Video resources

(C) Computers (D) Pens and pencils

Who has given the concept of Transformational Generative Grammar ?
(A) Edward Sapir (B) Roman Jakobson

(C) Noam Chomsky '~ (D) Ferdinand de Saussure

Which one of the following skills uses praise words and approving statements to
motivate the students ?

(A) Response variation (B) Explaining skill
(C) Reinforcement (D) Lecturing
Measurement is a process of .................... evallluation.

(A) Qualitative (B) Quantitative
(C) Linear (D) Unitary

Choose the correct sequence of steps in managing classroom teaching :
(A) Controlling, planning, organising, leading

(B) Leading, organising, controlling, minding

(C) Organising, controlling, leaving alone, commanding

(D) Planning, organising, leading, controlling

The Language 'Laboratozy is used for teaching

(A) Speaking skills ' (B) Listening skills
(C) Both (A) and (B) (D) None of these
Which of the following is not true of CCE ?

(A) It focuses on co-scholastic areas also

(B) It promotes holistic development

(C) Itis time consuming and punishing

(D) It reduces stress and anxiety of the students

Evaluation of language proficiency is done through tests designed to evaluate
which of the following skills ?

(A) Listening, Speaking, Reading and Writing
(B) Listening, Reading

(C) Speaking, Writing

(D) Writing

94639 |[L[LIIIILI (444 . .
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freAfefiaes stafct Terter, s SEA: (31 - 36 ) T

SR R Reeges: e, S | AR W T i =
e, TSRO % R, S TR ST, | Sy e
T g e e, AR | TR — O S G S
et st 1 TSR T S ST .
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© 7T g (¢
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Frfefiae swfae Tty smmige swifafaan: gw=T: (37 - 42 ) T —
R s SRy S Tew uRaRt | ARErETTe TeHe
SRR TR terAeg:, TR aeHEEEI U SREESn A T,
SRR, WUSREH @ e e w1 R RE e
TATRAR | urehemw woopmmeRae AR, e et
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SECTION - II1
LANGUAGE - II
ENGLISH
There are 30 questions in all in this section.
All questions are compulsory.

Passage ( For Q. Nos. 61-65 ) :

Kalaripayatt is a traditional art practised in Kerala. Though claims of its heavenly
origin are disputable, foreign travellers mentioned Kalari being practised in Kerala as
carly as the 13th century, which makes it the oldest martial art to be in existence.
Kalari is considered to be the most complete and scientific martial art and is the
mother of all martial arts. Bodhidharma, a Buddhist monk from India, introduced
Kalari into China and Japan. What makes Kalari unique is the fact that it is much
more than a martial art. A student of Kalari learns philosophy, medicine, attack and
self defence and, above all, learns how to avoid confrontations, where he has to attack

somebody or defend himself.
attack and self

61. A student of Kalari learns ............c..ee. philosophy ........cccc.
defence.
Fill in the blanks with the hclp of given options :
(A) neither — nor ~ (B) either—or
(C) not only — But also (D) as—as

62. Kalaripayatt belongs to India ................. Karate belongs to Japan.

(A) that
(C) if
63. Some people still ....ooviiiiiene

(B) whereas
(D) when
of Kalari’s heavenly origin.
(A) claimed ~(B) claims

(D) were claiming.

(C) claim

64, Kalari ....ccooseeeere the oldest martial art to be in existence.
(A) is (B) was
(C) were (D) are

65. The most suitable title for the passage is

(A) Drawing and Painting (B) Mother of all Martial Arts

(C) Table Tennis (D) Lawn Tennis

il 44 P.T.0.
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66. “When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?

(A)  Alliteration (B) Personification
(C) Simile (D) Mctaphor
67.. What device is present in the line “If ought of oaten stop or pastoral song” ?
(A)  Irony (B) Assonance
(C) Paradox (D) Alliteration

68. “She was a phantom of delight.”
Which literary term is used here ?

(A) Elegy (B) Simile’

(C) Metaphor ' (D) Sonnet
69.  “As greén as emerald” is an examplé of

(A) Allegory _ (B) Hyperbole

(C) Satire (D) Simile

70. “Peace hath her victories
- No less renowned than wﬁ.“
What is personificd in these lines ?
(A) Victories (B) Rengwned
(C) Peace b - (D) Less
71. “Two roads diverged in a yellow wood
And sorry 1 could not travel both
And looked down one as far as [ could
To where it bent in the undergrowth”

The rhyme scheme of the above lines is

(A) abaab (B) AAbaa
(C) ababa . (D) Abbaa
72. 1.orevveveseo... give him an answer if he had asked me.
(A) can (B) may
(C) could (D) might.

73. Choose the alternative which best cxpresses the meaning of idiom / phrast
underlined in the sentence :

“] met him after a long time, but he gave me the cold shoulder.”

(A) Scolded me (B) Abused me
(C) Insulted me (D) Ignored me
oasao [N
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74. Which literary term refers to the problem or struggle within a story ?

(A) Conflict (B) Drama

(C) Action (D) Climax
75. A form of drama that is intended to amuse and that ends happily.

(A) Tragedy (B) Comedy

(C) Biography (D) Irony
76. ‘Petrarchan’is one of the categories of

(A) Ode (B) Elegy

(C) Sonnet C (D) Drama
77. The number of pure vowels is |

(A) 9 g (B). 10

(€ 11 | (D) 12

78. p,t,k,0,s, [, h, t]/ arecalled

(A) Voiced consonants (B) Voiceless consonants

(C) Pure vowels - (D) Impure vowels

79. Choose the correct phonetic symbol for the underlined sound of the word :

Water -
(A) /wotl/ | (B) /west/
(C) /wd:td(r)/ - 3 (D) /wD[ry:/
80. Find out the word which begins with different sound from other given words :
(A) Reach (B) Reap = '
(C) Rich (D) Read

81. Which of the following contains the same vowel sound ?

(A) Bite — kite — site (B) Bill — bell — ball

8 The communicative approach in teaching of English has been practised and

developed in

(A) India and China (B) India and Sri Lanka

(C) China and Japan (D) France and Britain

is a challenge in the process of teaching English language class ?

(B) More interesting teaching style

83. Which one

" (A) Less interesting teaching style

(C) Reasonable time management (D) Good lesson preparation

o430 | [HIINNLIIIN < P.T.0.
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The excessive use of mother-tongue is

(Al helpful in learning English .

(B) a challenge to learning English

(C) a substitute of learning English

(D) none of these

“The teaching material should be in accordance with the mental age and should
have relevance in real life situations.” The statement refers to

(A) Principle of habit formation -

. (B) Principle of selection

(C) - Principle of gradation

(D) Principle of c:ontrollcd vocabulary

With ................. students come to see the tests not as a punishment but as a
useful feedback. The classmates work together for ‘common intellectual welfare’:
(A) Self evaluation . (B) Group evaluation

(C) Peer evaluation | (D) CCE evaluation

“What do you think about the two candidates in thisl elct;tion ?” This is an

example of
(A) Open ended question (B) Close ended question )
(C) Both (A) and (B) (D) None of these

Which test items’ consist of a stem, the correct answer, keyed alternative anc
distractors ?

(A) Diagnostic test (B) Multiple choice test

(C) Close test (D) Oraltest

The remedial English classes are very helpful for the students who are

(A) below the age of 18 years

(B) unable to achieve the required grades

(C) poor and can't get formal education

(D) rich and can afford computer

Feedback is always

(A) Summative (B) Formative

(C} Annual (Dl Objﬂctivc
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SECTION - IV / @Ug - IV
MATHEMATICS / TIUTd
There are 30 questions in all in this section.

All questions are compulsory.

77 @ve o Fel 30 WA ¢
it 5o sifard &

The digit form of one crore one lac one thousand one hundred and one, is

(A) 11111101 B) = 10101101
~(C) 10010101 - () 11101001
o Hg T TG T R G T s T &
(A) 11111101 @ 1010t101.
(C) 10010101 (D). 11101001
If31P5 is multiple of 3, where Pis ten's digit, then the greatest value of Pis
A 9 B) . 3
(CL 6 o5
gfg 31P5, 3$rgum%,aﬁpam‘$r siE €, dl P affuad AF €
A 9 ® 3
€ 6 @, 3
value of 25+12 x33-25+51s
- 1
(A) 1216 ® 793
D)  239%
#Cc]~ 416 5
45412 x33~25+45 A €
1
B) 79% -
A) 1216 S
1
(D) 239¢
(C) 416 5
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94. The least number which is divisible by the numbers 1 to 10 is
(A) 1680 (B) 840
(C) 2520 (D) 5040
asaﬁmiﬁamﬁiiamﬁ;mﬂrﬁsﬁ1iiloaaﬁéTﬁ@mmﬁiiﬁnwa1% ?
(A) 1680 ' (B) 840
ey 2520 | (D) 5040
95. Multiplication of place .values of 3,4 and 5 in the number 60321045 is equal to
(A) 60 ' | (B) - 600000
(C) 60000 ‘ (D) 60000000

HET 60321045 1 3, 4 T 5 % TG JE! 6 OEEA SER &

(A) 60 (B) 600000
(C) 60000 ). 60000000

. 96. The non-terminating recurring number 0-123 is equal to the fraction,

123 | 41
A 1600 B 333

37 ' | 41
© 300 ®) 30

FAFHA] el WA 0123 % R figx §

123 41
(A 1600 B 353
S, D) AL
£ 300 T

94639 [ LIREHTHE | [443]
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g7. The cost of 16 coins of 50 paise is cqual to

98.

99,

a639 [N

() 4 coins of Re. 1 + 3 coins of Rs, 2

(B 3 coins of Rs. 2 + 8 coins of 25 paise

(C) 3 coins of Rs. 2 + 6 coins of 25 paise

(D) 2 coins of Rs, 2+3 coins of Re. 1

50 ¥ & 16 Tl =1 e awmaw &

(A) 1398 F 4 fgah + 2 598 & 3 faw

@ 239 & 3 faad + 25 00 & 8 faah

(C) 2393 % 3 fga + 25 1 F 6 for

(D) 2%¥9 % 2 faah + 1 308 & 3 faamr

The right descending order of the following numbers'

w 333 o &3
@ 332 o 233
ﬁﬂmaﬁ%,%,gmaﬁmﬁﬁm%

o 33 o 52
Thcvalucof—-l—?—-(?%-flg-).is

® 5 ® -
© -3 o i
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—1%-(2%-4%)?ﬂmﬂ%
A = ®) -2
© -3 o

R : ainde
The greatest number which divides 244 and 2052 such that it leaves rem r

4 in each case, is
(A) 12 B) 16
(C) 30720 (D) 15360

T8 @ I e, T 244 79 20523ﬁ_ﬁuﬁﬁmﬁwmf@ﬁfﬁ4'm

Wi &, 9% §E &

(A) 12 (B) 16

() 30720 _ (D) 15360

The difference between the greatest and the lowest prime numbers of two
digits is '

(A) 88 . I (B) 86

© 89 - | D) 95

T 3wl @ gad "Sl 9 §ud Sl Wmﬁw%

102.

(A) 88 M) 86

(C) 89 (D) 95

If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens is
(A) Rs. 1,500 LA (B) Rs. 150

(C) Rs. 125 (D) Rs. 1,250

afg 12@%@1@?20%@%,3‘125 U=t T g a

¢« 1,500 %0 (B) 150 %o

—

(C) 125%° (D) 1,250 To

i oacso [N
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: left
103. The average weight of 5§ students is 40 kg, If onc student of weight 50 kg has le
them, then the average weight of remaining students is

(A) SO0 kg (B) 37-5kg

(C) 30 kg (D) 625 kg
saﬁ?maﬁmmmﬁm%.qﬁ;mﬁa@;mﬁﬂuﬂmwﬁﬁmtmm

€, T I = BT w5y e e g

(A) 50 kg (B) 37-5kg
(C) 30kg (D)  62:5kg
104. If a product is sold on 10% profit at selling price Rs. 330, then cost pl'iffc of the
product is
(A)  Rs. 360 -. (B) Rs. 363
(C) Rs. 297 (D) Rs. 300

U 9 10% T § o geg 330 To W Sl Il ¢, A IW TR H 7 6T &
(A) 360 To (B) 363 Fo

(C) 297 Bo D) 300 Bo

105. In a school under 'shramdan’ camp, 12 students clean for 7 hours, If equal part

needs to be cleaned in 6 hours, then how many students will be required ?
(A) 14 B) 12

(C) 16 D) 15
qaafamauﬁ‘m'ﬁrﬁz%amﬁﬁmmﬁ,TET!%wméa?{ﬁ%]qﬁ,mﬁqm
emﬁmaﬂmﬁ.a’rﬁmﬁaﬁéﬂmﬁmﬁ’ﬂ?

o 14 (B) 12-

(C) 16 - D) 15

24639 |[LELWILIN 44 P.T.0.



S——— e ="

STL-1 -

) 18 2 ycars and
. .5 % for
106. P takes loan of Rs, 9,000 at the rate of simple interest 8

8 months, then total amount to be returned by him will b€
(A) Rs. 2,040 (B) Rs. 3,060

(C) Rs. 11,040 _ (D) Rs. 12,060

. 4 34
‘Pﬁf9,00t_3’6°aﬂazma-suzomwmma'rqt2aﬁsﬂmﬂ=mﬁm‘= -

et Tfer ;S Tl 2
(A) 2,040T0 . . ... (B) . 3,060 %0

) 11,040 Fo (D) 12,060 %o

@ A cylinder of héight 4 cm is formed after folding ( without overlapping ) a
22 cm * 4 cm rectangular paper, then curved surface area of this cylinder, is

(A) 88 mcm? " (B) 88cm?
(C) 176 ncm? (D) 176 cm?

WZ2MX4@¢%WWH%%W(%WW)'E4WW
T = =TT YT | Y SO I ThYS T A g

(A) 88 ncm? - (B) 88cm? ‘

(C) 176 ncm? (D) 176 cm?

oac3o [JININININ
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108. In the gi |
given fi .
igure lines AB and CD are intersccting at point O If
ZEOD = 25°

angle bisect
ors of #BOD and ZCOB respectively, and if

equal to
“ D
(@) 55° 5
C B
F
(A) 130° | B 65
(c) 105° C D) 50" 9
qfieg @l

ﬁﬁﬁmﬁmﬁfgw@,ﬁggﬂ
25’,a‘rzcopauﬂ3

~BOD ™l zcoﬁﬂ?uni’gmﬁﬂ?%qﬁ afy ~EOD =

OE and OF are
then ZCOF is

¥| gfs OF 91 OF F

A D
0455 g
C g
' F
(A) 130° ' (B) 65°
(C) 105° _ D) 50° |
109. Ar.ca of a squarc field is 6400 1;:12. The distance_travcﬂcd .'by a person, in
5 rounds on its perimcter, is
(A) 320 m B 160m
©c 1 6 km (o) 32km
o AR ﬂaﬁﬁg@ﬁaﬁﬁ#lﬁwﬁﬁmwﬁmﬁqﬁﬁﬁq
5 TFHL e W Al it
(B) 160 m
(D) 3.2 km
pP.T.O.

(A) 320 m
f6) 16K

sasso (NN
i W ]f'__r:'c;fr_:\_n“,J"-:.J'; L

H

. —
|| 000©

[ [@@O®

[10 | @@ O W@ |
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tap with speed
Time taken to fill a water tank of size 2 m » 1:5 m % 1 m, by a tap
20 litre/minute, is

(A) 9 minutes (B) 1 hour 30 minutes

(C) 60 minutes - (D) 2 hours 30 minutes
: 2mxI-Smx1mm%ﬁ%§maﬁ"f@={ammﬁﬁa/fﬂﬂzaﬂ"ﬁ‘@‘m
: o o W
‘ (&) 9fe " (B) 1 v 30 fE

(©) 60 e . ..(D). 2930 e

111. How many bricks of measure 25 cm x lﬁ'c_r-:_i x 10 cm are required to make a

wall of size 20 m long,-5 m high, 50 cm thick, while there are two doors of size
2m x 1'5 m in the wall ? v

(A) 11750 B (B) 11000

(C) 117500 (D) 97500
20 Hiex Fll, 5 et Ft 3R s0 At W far T & a2 W « 1.5 He
T % 6, T H 25 W« 16 A x 10 T I i el S Y amervamar @ 2

{A) 11750 (B) + 11000
(C) 117500 (D) 97500

112. In given figure OP| |RS, ZOPQ = 100° and ZQRS = 140°, then /POR is AL

R > g
. 140°
0 —> -
100"
Q
(A) 80° (B)  60°
(c) 70° (D)  50°

94639 [HILIINIHILI



g0
j30
STL-1 51 =
fed - fam 3 op IRS, £OPQ = 100° T £QRS = 140° A £PQR F&R &M
& s
140° '
0 —> s
100°
Q
(A)  80° B 6o
© 70 N

113. For multiplication of two decimal numbers, such as 04 x 02 = 0-08, an
appropriate teaching-learning tool to explain the concept is

(A)--. Dienes block (B)  Number chart

(C) = Counting star (abacus) (D)  Graph paper:

a’rmnaa@@raﬁaﬂqmﬁ@o-4xo-2=o-osﬁmﬁm%%q3&m

fereror-sifirmy W &
(& STEfH =HE B) e
(€ framT (seww) - (D) UT% TR
114. Which of the following represents 9, using tally marks ?
A W oW (B) Wl W |
(c). Il D) W W W
forerr fereeit a1 Swam X U Fefietian & § H We o 9 wefir sy 2
A Mo B) | |
(€ N
w639 ([N A P.T.0.
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sector, showing
If monthly salary of a person is Rs, 24,000, central angle of the

; . expenditure on
the expenditure on education by pie-chart is 607 then the exp _

education is
(A)  Rs. 4,000 (B)  Rs. 8,000

(C) Rs. 3,000 (D) Rs. 6,000
T Al B i 47 24,000 To ¥ 36 foen W frd o H I W AN
e FreaEve w5 = w0 600 &, & 3w fen w = Em

AT 4,000%0 (B) 8,000 %o

(C) 3,000 o | (D) 6,000 B0

"Mathematics is the mirror of civilization aﬁd culture." This statement is said by
(A) Bacon ' . (B) Berthelot

(€) Hogben (D) Bertrand Russel

o T R T A 1 A e e w0

(A) A B) =i

(C) ®rmEA . (D) vE W

"The act of combining separate parts.” This method is called
(A) Analytic Method (B) Synthetic Method
(C) Laboratory Method (D) Project Method

" STem- 37T Wl &t Srean ) 9 e wwema &

" (A) ﬁ?ﬁwfﬂﬁ (B)  dversur fafy

©) warmmern fafy - (D) i fafyy

oas3s |11
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118. The maximum success of remedial teaching depends on

(A) time and duration

(B) . the correct identification of causes of problem

(C) knowledge of linguistic rules

(D). remedial teaching materials

IUARTe forerr ) e qohern PR A @

(A)  GEE T 3ty W B T & HON H HE gedr T
() wers fEdt & IR W - (D) ITERTEE e a9

119. Arrange in correct order the steps of evaluation in mathematics :

1. Identification of situations

2. Selection of objectives

3. Selection of evaluation methods
4. Interpretations of evidences

5. Constructions of evaluation devices

A 2,1,35,4 ‘ B 231,54
C) 2,3,5,4,1 B D) 3,2,4,5,1
Tforer B Heai & @A H FE FH T

| i

0. Ievdl & TG

3. HediwA (ot w1 a9

4 WO @ AT

5. Wuﬁlﬁlﬁﬂﬁﬂiﬂ
(A) 2,i,3,5,4 ' B 2,3,1,5,4
) 23,541 (D) 3,2,4,5,1

930 |[NINNIIEE

P.T.O.
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120. A student was asked to read the following numbers :

306, 406, 408, 4020

He reads as follows :

Thirty six, forty six, forty eight, forty twenty

The reason for error in reading is that

(A) -

(B)
(€

(D)

rin
the student does not like maths class and finds the class boring

its use also
the student has understood the concept of place value and %5

the student is not fit for study of maths

the student is not able to understand the concept of place value and fecls

comfortable using two-digit numbers only

Rt BT @ A < i e WY a3 fevg T T ¢

306, 406, 408, 4020

IF §% I THR TG :

9 ©:, 9T 8, 99 18, ey S|

T ~

(A)
(B)

- (©

(_(Pl

BT i TG Y FET D! Tl oA S FET IS o
w%mﬂmﬁﬁmﬁmmﬁmmmq}
B1F R T G F & 1T I9gw @ &

wwmaﬁwﬁ“ﬁmﬁmﬁaﬁﬂﬁ-aﬁqmﬁé

gl AR Tl €|

pacss [LITINIIE [348] 1
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SECTION -V / @ug -V
ENVIRONMENTAL STUDIES / GdTavul eI

There are 30 questions in all in this section.

All questions are compulsory-

79 @ve § el 30 WY © |
oot weT s B

121. Gregor Johann Mendel researched on

(A) Drosophila - (B)
(C) Garden pea (D)
TR W= HUSH 3 Y i foman an

@A) SrEifEe W (&)

L) A AR W (D)

122. Who was the first Indian astronaut ? -

(A) Kalpana Chawla (B) -

(©) Rakesh Sharma (D)
e R et vt A 4 2

() T T (B)
- — (D)

sa3o [N

Rat

Yeast

Tl W

_ﬁh?:rﬂ

Sunita Williams

Raja Cheri

- P.T.O.
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'Chidiyatunk’ ?
123. Which of the following forts of Rajasthan is also known as Chidiy
(A)  Ranthambore fort (B) Mehrangarh fort

(C)  Kumbhalgarh fort (D)  Sonar fort

Freafefm & 2 aore 3 frr 7t o g 3 7 & of ST € 2
A ““"‘“““3"‘. e g g
© Fwg I D) |HR fwen

124, Water day ia celebented on. -

(A) - 22nd May (B) 22nd September

(©) 02nd February (D) 22nd March

ﬁﬁmmﬁ?mm%?.
(a)  22%% ® 22 faww

(C) 02 ®EE O 229

¢

125. Which of the following enzymes is present in saliva ?
(A) Pepsin * (B)  Trypsin
(C) Lactase (D)  Ptyalin

Frefefad & & wi-a1 g, o1 3 sufem gt

() dfcE | B) et
(C) waeq _ : (P) Tl

aasao [N |
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126.

127.

128.

-

Who is the first woman of the world who climbed Mount Everest successfully

from the Kangshung side ?

(A) Bachendri Pal (B) Santosh Yadav

(C) Premlata Agrawal (D)  Arunima Sinha

fpg o wign ® WE ¥ ARE @R W qRCTEE S e e

FAE ?
(8)- SO T @ Ha aEd
.(CJ ﬁqﬁﬁrsnﬁmﬁ D) 3ot fe

International Bio-diversity Day is celebrated on

(A) 21st May (B) 23rd May

(C) 22nd May (D)  24th May

m@ﬂi’rﬂ-f&fﬁﬂﬂﬁ‘q’ﬁmﬁﬁmﬂmﬁ?

B) 237

Ay 2178
(c) 22 24 o % _qé
Radio broadcasting in India started in the year
w1926 | (B) 1927
g 1523 (D) 1929
(

444

94639 HMM”HHI”H

P.T.O.
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wRa H gt yawor @ geerd few ad gf 2

(A) 1926 : (B) 1927

(C) 1928 ‘ (D) 1929

129. Which disease is causeci by the deficiency of Vitamin-A ?

(A) Scurvy (B)  Nightblindness

(C) Rickets . (D)  Beri-beri

faerfia-u &t it § HE-A1 ATEAE 7
(A) _ﬁa‘nﬁ : ;a) Ta
-(C) frehew - (D) A=

-

130. Which is the biggest planet of the solar system ?
(A) Jupiter - (B) . Saturn

(C) Uranus (D) Neptune

Ifﬁqﬁanmrma@ugaah-ﬁ%?

(& TFewd { B) i

(C) 3o ‘ (D) Gl

aasas | [I1INIIIH 44
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131. i
Following traffic sign indicates

132.

YRR

(B) Pedestrian crossing

(A) Cross road

C i i
(C) Raﬂwgy crossing (D)  Narrow bridge

A fear T T e v T &

@) Yo IR T

(a) AR

@) or i (o) e e

Which deity (Lok Devta) of Rajasthan is known as 'Deity of camels' ?
(B) Ramdeviji

(A) Goga ji
(c) Pabuji (D) Bhomia ji
Umﬁﬁ%ﬂ&amaﬁ‘iﬁﬂm'é?mﬂﬁmm% ’
@) T A @ A

o) i 5

st
-

94639 HIIIIIJ'IHHIHII |

P.T.O.
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133.

134.

135.
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60

‘The Wildlife Protection Act’ . was enforced in India in the year
(A) 1962 (B) 1972

(C)* 1982 . (D) 1992

Rd | ‘g ST g axﬁlﬁm'ﬁwaéﬁﬂmaﬂ?

(A) 1962 B) 1972

(C) 1982 _ DO) 1992

The organisation which publishes the 'Red Data Book' of species is

(A) ICFRE | (B) WWF

(€) IUCN i 3 (D)  UNEP

(A T U AR E (B) T =Y TE

€ EYH D JwId

Who coined the term 'biodiversity' ?

(A)  A.G. Tansley (B) E. Haeckel

(C) R.H.Whittaker | (D) . W.G. Rosen
“ia-fafadr (arrerafs)) v frem fean or 2

) UL 2Rget B 3. €&

(C) 9N U9, g@didemy (D) <=, Wl WA

STL-1
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. Principl ' g
136 ¢iple of 'Specific 14 General' is used in

(A)  Inductive method

(B)  Synthetic method

(C)  Heuristic ,
Method (D) Analytic method

RIS R 1 ey Pt 8 Q) et g @ & 2

(A) 3RS fafy

. B8] Tyeiqur fafu
© T v fafy o) Fageieen fafi
137.. Ranikhet diseasc is associated with
(A)  Fishes | - (B) Honeybees
(C) Hens - (D) Pigs
THET U fhEd st ¥ )
I B Ty
(¢ i - (D) g3

138. The biotic components of environment are
(A) Plants " (B) Mountains

(C) Fields (D) Rivers

TGt % Wi 9EE €

a (B) TS
© e B

sacas |LIHIIIIILE P1.0.
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139. Disadvantage of deforestation is

(A) Increase in soil erosion
(B) Decrease in soil erosion
(C) Increase in number of wildlife

(D) Increast.:inrain

TR T gEROM &

) TR A F gig

(B) I S F FH

(rl,), Wﬁaﬁﬁaﬁﬁmﬁgﬁ
(D) & H g -

140. Opium is obtained from
(A) Papaver somniferum (B) Aloe vera

(C) Cinchona (D) Centella asiatica

HH fmad wIe gl € 2
(Ay 99ET Gy - (B) UTeg A

©) faTwmr (D) @ TR

94639  |[ILIIHTINL [444]
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1. Select the fest: ;
& ESt_wal from the following which is celebrated on the full moon of
Shravan :
(A)  Diwalj

(B)  Holi
A Shivaratri (D) Raksha Bandhan

| ﬁawaﬁm@.ﬂﬁﬁ,?ﬁm#{ﬁmﬁmm%:

&) e | (B)  ®leit

(©) W feraxfy P)
142. Sitabari fair ( Kumbha of Sahriya tribe ) is held at

(A)  Arnod — Pratapgarh

(B) Chauth ka Barwada — Sawai Madhopur -

(C) Kelwara — Baran

(D) Pushkar — Ajmer

HicTaTEt =1 ol (WeRan SFfd 1 $W) S T €, €
(4) OG- FATTG (B) e T T - s TR

(2) peraet - (D) YR - TR

143. State tree of Rajasthan is

(A) Khejari (B) Neem
(C) Peepal (D) | Amaltash
aas3o | [[/IIINILIN

1.0,
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o d | ®
© der (D) 3Tl

144. Which of the following enzymes is not secreted by pancreas ?
(A) Renin . (B) Lipase

(C) Trypsin (D)  Amylase

Frfefiaa § @ -6 TOEH SR gR AEE T e ¥ 2
(A) i‘ﬁ-‘-l‘ . (B) RS

(€ ffem ®) AR

145. National Aquatic Animal of India is

(A) Gangetic Dolphin (B) Whale

(C) Lion (D)  Chinkara
R H UL oAy yoft &

(AT Titg gifeg (B) &

(€) W D)

94639 [T [444]




(A)  2nd Octoblcr, 2013 (B) 2nd October, 2014

() 2nd October, 205 (D)  15th August, 2014

D R R Y o o 9

(A) 2 HIER, 2013

(Bf 2 &R, 2014
€ 2 KK, 2015 (D) 15 30T, 2014
147. Match the following and choose the correct :
()  Malaria . (a) Entamoeba histolytica
(i)  Amoebiasis (b) Mycobacterium tuberculosis
(iii) Tuberculosis (c) Plasmodium
(ivy Cholera (d) Vibrio cholerae :

(A @-() ()-@ (i)-(d) (v) - (b)
B) (- @)-® ()-(@) (iv)-(d)
© - G@-® G- -
D), (@) -() (i)-(a  (i)-(b) (iv)-(d)

ﬁmﬁiﬁaa%aﬁﬁaﬁmaﬁwmﬁ: |
) TR a) oz fiemsio
e ® T S ———
(iii) & 0T o e |

(iv) & @) fafr S
A G- (i)-@  (ii)-d) (v)-(b)
(B) (i) -(c) (ii) - (b) (iii) - (@) (iv) - (d)
() ()-(@  (i)- (b (iii) - ()  (iv) - (d)
(D) (i)-(c) (ii)-(a) (i) - (b)  (iv) - (d)

94630 | HHIITIIN

P.T.0.
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. 149,

150.

66 STL-1
The housé made of snow is known as
(A)  Igloo (B) Rain Basera
(C) Green house (D) Basera
Tk / TR0 74T W Foendl §
w B) WU
(€ haTe (D) FE

-District of Rajasthan, which shares its boundary with maximum number of

districts in the state is

(A) Bhilwara ~  (B) Ajmer

-{G). Barmer - (D) .Nagorc

_mmﬁm,sﬁmﬁaﬁmﬁﬁaﬁéwaﬁﬁmmmt%

(A) *ﬂaraltg (B IR

() @we - Dy~ AFR

The set of clothes which are worn without stitching is

.(A)  Sari, Shirt, Cap (B)  Turban, Sari, Kurta
(C)  T-shirt, Lungi, Cap (D)  Dhoti, Sari, Turban
‘gt & wgE fae et e o &, &

&) W w0 @) W, ),

€ T-wE, oM, ad (D) i, W, gt

ey I 11—



